
Oracle: Ajustement d'une sÃ©quence oracle

DECLARE 

nb_max_iddemtÂ Â Â Â Â Â  NUMBER; 

nb_seq_acuelÂ Â Â Â Â Â Â  NUMBER; 

nb_seq_incrementÂ Â Â  NUMBER; 

BEGIN 

SELECT MAX(iddemt) + 1 

INTO nb_max_iddemt 

FROM WORK.DOSM; 

SELECT WORK.SEQ_DOS2.NEXTVAL 

INTO nb_seq_acuel 

FROM DUAL; 

Â  nb_seq_increment := nb_max_iddemt - nb_seq_acuel - 1; 

Â  EXECUTE IMMEDIATE &#39;ALTER SEQUENCE WORK.SEQ_DOS2 INCREMENT BY &#39; ||
nb_seq_increment; 

Â  SELECT WORK.SEQ_DOS2.NEXTVAL 

Â  INTO nb_seq_acuel 

Â  FROM DUAL ; 

Â  EXECUTE IMMEDIATE &#39;ALTER SEQUENCE WORK.SEQ_DOS2 INCREMENT BY 1&#39;;

END; 
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